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1	Introduction
The intention of this contribution is to capture agreements in RAN4 #100-e first round discussions on agreements and topics for further discussion, study, and analysis in coming meetings.

2	Way Forward
Interested companies are requested to provide answers to the following questions:
1) If the SCS-specific carrier broadcast in the SIB covers 728-738 MHz and the 5 MHz at the low end of n12 is the initial BWP and the gNB, will n12 UEs that don’t support n85 be able to access the network since 728-729 MHz in the cell-specific carrier bandwidth is not part of n12?  Alternatively, if cell-specific carrier bandwidth is configured to be 729-734 MHz, can the network then configure n85 capable UEs with UE specific channel bandwidths from 728-738 MHz 


2) If it is possible to configure n85 UEs with UE specific carrier of 728-738 MHz when the cell specific carrier broadcast in the SIB is 729-734 MHz, will it be possible to ensure the RBs for the 728-738 MHz carrier align with the RBs for the 729-234 MHz Carrier? 

3) For further discussion on widerCBW placement is optimized to be contained in the band or meeting interference level in adjacent channels

4) Simulation or analysis results to verify the level of potential degradation to UE performance of ACS/block due to lack of UE dedicated channel filter. (DL only direction for irregularBW)

5) Confirm DL and UL filter assumptions (for both gNB and UE) and RB placement e.g should have (or have not) same center.  WiderCBW (DL), smallerCBW (UL) and irregular bandwidths all contain same center point.
a. Consider raster point may not align, shift to (right or left) next point relative to center.
6) For the case of 7MHz irregular BW, 10 MHz (52 RB) is indicated in the SIB1. If UE use 10 MHz CBW for the initial access there is an interference issue with operation in adjacent spectrum. How to avoid UE to adopt 10 MHz?
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